Colorimetric transformation i =1
¢t =cr =ac® with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1




Colorimetric transformation i =1
=c* =ac®with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1




Colorimetric transformation i =1
¢t =cr =ac® with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1




Colorimetric transformation i =1
=c* =ac®with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1




Colorimetric transformation i =1
cr =cr =ac®with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1




Colorimetric transformation i =1
¢t =cr =ac® with a=1,00;b=0,75
rgb —>rgb*d  prgm rgb*d-> rgb*d1

0.215 0
8-%2 0569 0-595 0.806
i 0.354 Q)
0.25 0354 0595
0.354

mOO0rd




